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PART -1 (Analytical Ability, Quantitative Aptitude And General Knowledge)
TS - I (faveivuners U WaTs Sy S &THAT UE | §)

Directions (Q. No. 1-4) : Study the following table carefully and answer the questions given below :

Profit (in Rs. 1000
feer (wvw W@ 1

) made by six different shopkeepers over the months.

-4) : T T wwoft & wrawriydE s AR A fe R v & I

'cﬂﬁl'q §
8: fafi gl &1 W (3. 1000 W) fafir w9 fea T R
Month/TET - | Oct. 2009 | Nov. 2009 Dec.2009 | Jan.2010 | Feb. 2010 |March 2010
Shopkeeper/ShITaR | | 3SR 2009 [ 2009 | frqwar 2009 | Sadt 2010 |wadt 2010( W= 2010
P 5.25 6.04 5.84 6.10 5.95 6.02
Q 4.84 4.28 4.97 4.88 5.04 5.12
R 4.99 5.82 5.48 5.45 5.68 5.36
S 5.06 5.11 5.28 5.38 5.44 5.59
i i 5.28 4.96 5.31 5.69 4.93 572
U 5.94 6.23 5.87 6.07 6.19 6.23
1. . Which shopkeeper’s profit kept increasing 1. fA ™ 9 A fFg @Ak ® @ |
continuously over the given months : frRgfs e @ & :
(&) R &S )R ® S _
(C)T (D) None of these ©T (D) FH 9 g &
2, What is the percentage increase in profit of 2, THM S @ @ 2009 # frod weR 1
shopkeeper S in the month of Dec. 2009 over o ® fha wfoem @9 9 gfe 8 -
the previous month : (A) 3.33% (B) 3.67% .
A 3.33% (B) 3.67% (C) 2.67% (D) T ¥ &I &
(C) 2.67% (D) None of these
3. What was the average profit earned by 3. FAMRR I FFE 2009 T Fa=R 2009
shopkeeper R in the months of October 2009 2 wE w faemet e eima @ W
and November 2009 together : B3 o1 ¢
(A) Rs. 4950 (B) Rs. 5040 (A) 7. 4950 (B) = §040 ‘
. 5405 (D) None of these (C) %. 5405 (D) T ¥ FK T
4. What is the difference in profit earned by 4. TFER T H Al 2010 ¥ frowt R R
shopkeeper T in January 2010 from the w9 # fRaT o R W Sl ?
previous month : (A) . 380 (B) . 760 '
Rs. 380 (B) Rs. 760 (€)% 640 (D) ¥ | =g T
(C) Rs. 640 (D) None of these
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Directions (Q. No. 5-7) : The following pie
chart represent a total expenditure of Rs.
5,40,000 on different items in construction of

a flat in a town. Study pie chart and answer the
questions.

Labour

Timber

5. The expenditure on bricks is (in Rs.) :
(A) Rs. 70000
B) Rs. 75000
(C) Rs. 67500
(D) None of these

6. The percentage of total expenditure spent on
steel and cement is :
A%
(B) 30%
(C) 25%
(D) None of these

7. The expenditure on bricks is less than the
expenditure on timber (in Rs.) by :
(A) Rs. 50000
(B) Rs. 55000

(S Rs. 60000

(D) None of these

bt I Sy

2 0 ° T
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SET-D
frdwr (wea "o 5-7) : fd M o = ¥
& TEA A UE Wi o fmin § fafa=
amgent W 3y wgul @l %, 540000 = gyTAT
T #1 U ue w qeEd i fed T v
&l I e \oo

5.
(A) % 70000 \/,1 .
(B) T 75000 V48
(C) T 67500 \ 6 | &
: ’ 5
(D) T ¥ HIE &l ;( }é.‘

6. WUl @ F1 fora wiowm ier e =

W Ed g wo\?g"v
(A) 33.33% u) EMP =
(B) 30% Wb

(C) 25% g

\f\/
D) T ¥ = & N

7. £ VAR T T, ThEl W W T T
AfrmFH B (B W) .

(-ODO
(A) %. 50000 \ }{Sg 00"
(B) %. 55000 v
(C) %. 60000 Lv/
(D) ¥ 9 g &
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10.

11.

12.

u e
Q¥ 6e

WY
A person was appointed for a 50 days job on

Ub

a condition that he will be paid Rs. 12 for
every working day but he will be fined Rs. 6
for every day he remains absent. After
completion of the work he got Rs. 420. For
how many days, he did not work :

(A) 5 days (B) 7 days

(Cr"10 days (D) None of these

A person has 2 bags. He has 3 black and 4
white balls in one bag and 4 black and 3 white
balls in another bag. Find the probability of
getting a black ball :

4
® 5

\9}) None of

e~
A copper sphere of diameter 36 cm is drawn
into a wire of diameter 4 mm. Find the length
of wire :
(A) 1855 metre
(B) 1500 metre o~

(C) 1944 metre
(D) None of these

1
(A) 3

3
© 3

Choose incorrect combination :

(A) State bird of Uttarakhand — Monal

(B) State tree of Uttarakhand — Buransh

(C) State flower of — Brahma
Uttarakhand Kamal

(D) State Animal of Uttarakhand — Deer

Which of the following National Park spread
over the District Dehradun, Pauri and
Haridwar :

(A) Govind National Park

(B) Rajajee National Park

(C) Nanda Devi National Park

(D) Corbett National Park

8.

10.

11,

12.

o®
Tu

(%
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w =t F e 5o 7 & fag fea
T i & fag 9% v € R wee &
feam #1 % 12 fe M 9oy Sgafe €
W T 6 AYeve foran S S @ GEa
R Y A . 420 TG g IH e b
fe w7 foan -
(A) 5 f&

(C) 10 f&=

B) 7 f& .
(D) T 4 = T

wARE TR RS w R A w |
qUT 4 THT 1% & T T A H 4 FHren a0
3 g¥g IR B TF wel A% fEwer (W

3
© 3

T 36 9H. =W F o @ en @ 4 e\
= ® d- EiY 9 & AR H G
HIfT :

(A) 1855 H=
(B) 1500 HX )
(C) 1944 X

(D) T ¥ =g TEl

A ¥ H FF7 FM9Q :
(A) TG F1 T4 vaft
(B) STU@TS &I T g4
(C) ITEvs F1 T TN
(DY TEEE F T T

feafafer & ¥ sF @ &g o
?@,ﬁ@aﬁmﬂwﬁhgw

(A) M= AT ek

LEIEIENECER Y
(C) 71 & "¥He ureh
(D) ®EE YA ek
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0, 6, 24, , 120, (?
(1._ Q&R 120,02
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f shopkeeper sold a book with 20% profit
afl_:er giving a discount of 10% on marked
\ price. The ratio of cost price and marked price

of the book is ............ ;

(A)2:3 M

©)5:6 (D) None of these
14. Two cir_cles of same radius 5 cm, intersect
cach otherat A and B, IFAB = 8 cm, then the
distance between the centre is
(A) 4cm
(C) 8 em

------------

\(B)-6 cm
(D) None of these

15. Find out the missing term (?) in series :

)\

3 (o

(B) 240
(©) 210

(D) None of these

16. Al-Nagah-112017 is joint military exercise
between ............. .

(A) India and Nepal

(B) India and Oman ‘

(C) India and Afganistan

(D) India and U.A.E.

17.  Activity of brain is recorded by :
(A) EEG (Electroencephalogram)
« (B ECG (Electrocardiogram)
(C) X-Ray
(D) None of these

Directions (Q. No. 18 -22) : Study the following
information carefully and answer the given
questions :

In certain code :

‘ring a bell’ is written as ‘582’
‘did not ring’ is written as ‘359’
‘not a reason’ is written as ‘729’

———

ef.!
oA @ @ j g0 Ll (9
7"

mo»\fﬁ

-Jou
S:w SET-D

13. IR T T foma T TH H 20% AW
W s gea q 10% femme= @ = #
q ®a god qu Afwd A 1 HFUM
......... 2l
(A)2:3
(C)5:6

(B) 3:4
(D) T8 ¥ FIE 7

14. 2 guA 5 G B & 99 TF W F A
YT B W =R FW 81 3% AB=8 ot =)

UG T T 1 ) - A 2l
(A) 4 9t (B)e?@ -
(C) 8 |t (D) T ¥ F18 e

15, =oit ® fafgn =d (?) 3@ *ifw .
0, 6, 24, 60, 120, (?)
(A) 180
Qe

(B) 240
(D) T ¥ &I¢ &

16. s@-Trme-fada 2017 Wy = s
% &9 gam

(A) wra 3l Fure

(B) W@ iR i

(C) 9Ra &R sTwmfrEm

(D) wra R g,

----------------

17. #f@ss = nfafafi o5t . ' R

e (wew Wem 18-22) + F T e @
T HeTT HAT aar By T wy @
IW it -

et fomiw wisfimr w3 :

‘ring abell’ 1 T YHR feran s & +580°

‘did not ring” I T ¥R feran mr § 4359°
‘notareason’ H IF YHR foran s & ‘729’

18. Which of the following represents ‘did not’ : 18. =1 4 97 @ diq not’ & Wikl s &
(A) 93 (B) 23 (A) 93 (B) 23
(C) 29 (D) 35 (©) 29 0 35
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26.

19.

20.

21.

22.

24,

25.

What is the code for ‘bell’ :

(A)2 ®) 5

<€)7 9)/8

What does 2’ stand for :

(A) ring N

(C) bell (D) reason

What does “7” stand for :

(A) ring (B) a

(C) bell QQ) reason

What is the code for ‘ring’

A2 = 5

©7 D) 9

Recently TRAI (Telecom Regularoty
Authority of India) has launched ........... new
apps.

(A) My call app

(B) My speed app
(C) Do not disturb
(D) All of the above

Name of the India’s first private railway
station in PPP (Public Private Partnership)
model :

(A) Allahabad Railway Station

(B) Bhopal’s Habibganj Railway Station
(C) Chennai Railway Station

(D) None of these

Where is FIFA, 2018 scheduled to be held :
(A) Spain (B) England
(C) Australia (D) Russia

‘Insectivorous plants’ trap the insects for :
(A) Nitrogen

(B) Oxygen

(C) Enzyme

(D) None of these

19.

20.

21.

22

23,

24.

28.

SET-D
‘bell’ 1 Haha F1 B
(A) 2 B) 5
(C)7 (D) 8
o Fa yefita w
(A) ring (B) a
(C) bell (D) reason
7 1 YRR T
(A) ring (B) a
(C) bell (D) reason
‘ring’ ® forQ 0 HWehd TN :
(A) 2 (B) 5
©7 D) 9
T @ H o (e Tl AuifEd e
FILES 1§ T A T/ T I IH
feram
(A) W Fd T
(B) W ¥ W
(C) § e fewd
(D) SHIT ¥t
R 1 Wuq Fret & 1 o BYA &1 AW

E?ﬂmmﬁ!qﬁmﬁm (Rdtd,) i
(A)miﬁﬂ'éiﬁ )
(B) MU Telams (o ©YA

(D) ¥ ¥ =t TE

HIHT 2018 H FEl mifa fra wmm

(A) ¥ [B) ¥ts
(C) siteferan (D) &9

(C) T=mw
D) ¥ ¥ = T
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27.  How many triangles are there in the following
figure :

(A) 16 \ﬂf) 17

(C) 15

28. Who wrote the book “Uttarakhand Ka
Naveen Itihass” :
(A) Dr. Ajay Rawat
(B) Dr. Yashwant Singh Katoch
(C) Gabar Singh Negi
(D) Bipin Chandra Mishra

29 Bt virus infected cyber security in so

many countries (recently).

(A) Anna Cry

(B) Tech World

(C) Wanna Cry

(D) None of these

30. Three position of a dice are given below.

Identify the number on the face opposite to 6 :

3 3 : 4
6 2 5 6 5 3
( (B) 2
%/I D) 5

31. A gardener has 1000 plants. He wants to plant
them in such a way that the number of rows
and the number of columns remain the same.
What is the minimum number of plants that
he needs more for this purpose :

(A) 14
) (B) 24

(C) 32

(D) None of these

SET-D

47 4 fed T fo W e g €

A

(B) 17

16
(4) (D) 9

(€) 15

28. ‘quﬁqgﬁgm’mﬁﬁm
FH T
(A) =l BWFIW
B) <. v g e
(C) TR fde it
(D) faftm == faan

29. . AAE A FHE M B WEAT G
Hefd #t (31 &1 H)
(A) &1 W
(B) eF Tee
(C) &= g
(D) ¥ ¥ &% Tl

30. TF 9w A9 feufa fKa@r @ #1 6 @ @8
: Y W T 9495

3 3 4

6 |2 s |9 s |3
(A) 1 (B) 2
© 4 (D) 5

(A) 14 %{x&;‘/

4 S \
(©)32 Y
(D) 74 & #id T ; X



32. TwotapsAand B can fill a tank in 12 minutes
and 16 minutes respectively. If both the tap
are opened simultaneously after how much
time should tap B be closed so that the tank
is fill in 9 minutes :

(A) 4 minutes (B) 5 minutes
(C) 6 minutes (D) None of these

.5, R O founded ‘Prem Sabha’ in
Kashipur.
(A) Badri Dutt Pandey
(B) Govind Ballabh Pant
(C) K. C. Pant
(D) Kalu Mehra

34. Shri Bhuvaneshwari Mahilla Ashram is
located at .............. :
(A) Nand Prayag (Chamoli)
(B) Lohaghat (Champawat)
(C) Anjanisain (Tehri Garhwal)
(D) None of these

Directions (Q. No. 35-39) : Study the following

information carefully and answer the questions
given below :

P,Q,R,S, T,V and W are seven students of '

a college. Each of them has a favourite subject
from Physics, Chemistry, English, Biology,
History, Geography and Philosophy, not
necessarily in same order. Each of them also has a
favourite sports from Football, Cricket, Hockey,
Volleyball, Badminton, Table Tennis and
Basketball not necessarily in same order.

R likes philosophy and his favourite sport is
Hockey. The one who likes Football likes English.
T’s favourite sport is not Badminton or Table Tennis.
V does not like either History or Biology. The one
whose favourite sport is Basketball does not like
Physics. mvouﬁte sport
is Volleyball. S likes Geography Q’s favourite sport
is Badminton. V_does not like English and his
favourite sport is not Basketball. P’s favourite sport
is cricket. The one whose favourite sport is
Badminton does not like Biology.

SET-D

32. AT A 991 B TF &F F wHw: 12 fe

a1 16 fe § R TFd T s A T B

T 99 G f&@ 9@ 9w 7 B &) R

TG 9% 9% W & oA fF w9 e d

‘1'{'@!1'*3{:

(A) 4 T (B) 5 fie

(C) 6 fFe (D) ¥ | HIE T

(A) T W92 _
dqeiq 9d

(C) .41 va

(D) T, HeT

(A) < W (=)
(B) TileTene (=)
SO iR (fesdt Team)
(D) 7 & #iE T

Tder (wew W@ 35-39) ¢ & T gEei @ v
WEUTHgd® e Fwg aar &g uvt &
I T :

.P,Q,R,S, T,V 91 W T& Foisl & 9 B
% 7% w1 & i fowg s, e, oS,
i fam, sfem, e qon e § 9 @,
st & R T wm A A

o ® T T O it et finshe, g,
i, Sefife, e g am A S ¥ |
A U il e R

R XA 9= Ha1 © 3R 3w g g
TH 8| TR TH Feard qu ST TR w2
T #1 fira 8w Sefizn o1 e g 78 2

V @l 3fes @ Sia faam vos 9§
e i e@ aremea ¢ 39 S o= @
B W R W v 2 i o g o e
2 S ® i @R #1 Q W i W defi
21V F R v T ¥ ik T g aw
diehe 9 TR 2 P i O fede 31

fae firm @@ Jeftiza a7 e fagm wo T2
H 2
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35.

36.

37.

38.

39.

40.

41.

Who likes History :
(A) P (B) Q
C)R (D) None of these

Whose favourite sport is Basket Ball :

(A) S (B) W .
©)Q (D) None of these
Which subject does T likes :

(A) Physics (B) Chemistry
(C) Biology (D) None of these
What is Q’s favourite sports :

(A) Badminton (B) Football

(C) Cricket (D) None of these
Which subject does P likes :

(A) History (B) Biology

(C) Chemistry (D) None of these
Choose the correct combination :
_ Tehsil District

(A) Lansdowne — Pauri (Garhwal)
(B) Berinag — Pithoragarh

(C) Narendra Nagar — Tehri (Garhwal)
(D) All of the above are correct

Match List I to ListII :
List I List IT
(Capital) (State)
(a) Itanagar (1) Nagaland
(b) Kohima (2) Tripura .
(¢) Izol (3) Arunachal Pradesh
(d) Agartala (4) Mizoram
Code :
@ & @ @
(A) 3 4 1 2
B) 3 1 4
) 3 2 1 4
(D) 3 2 4 1

35. #«mﬁ“mm%:

EC;R D) T ¥ PE Tl
36. Wmﬁmé;w
(A) S :
©Q (D)s?ﬁtﬁﬂﬁ?'-lﬁ
37. Tﬁamﬁmmm%:
(A) shfet (B)Wﬁz’:ﬁ?aﬁ
©) < fmm (D) T
3. Qi fira g ¢ =(B) "
(A) FefiiE 3
() frre (D) ¥ ¥ ik T
39. Paﬁﬂwmﬁwm%éamﬁ
(A) 3fae™ (B) s
(C) T (D) T ¥ &5 T
40. W& g H T B :
e ERk
(A) TN — et (Tear)
(B) AT — fudirrmg
(C) AR — fe&dt (vream)
(D woft wedt € }
41. =t 1% frem gt 119 wifee—
Tt 1 gt II
(e ) ()
(a) TR ) RIS
(b) ifew frga
(c) 3= ) ITEUTE TN
@ 4) faeire
3@_:
@ B (o (@)
A) 3 4 1 )
3 1 4 2
(C) 3 2 1 4
D) 3 2 4 1

httﬁs://clici%4pdf.corh2



42. Nita Ambani is the India’s ............
International Olympic Committee member.

: (A) Third Woman

| (B) Second Woman

: (C) First Woman

% (D) None of these

43. Maleria is a disease that effect the :
(A) Spleen (B) Heant
(C) Lungs (D) Kidney

44. A person start from a point'A and travels 3
km east-wards to B and then turn left and
| travels thrice that distance to reach C. He
\ again turn left and travel five times of
distance he covered between A and B and
reach his destination D. The shortest distance
between the starting point and the destination
is»
(A) 9km
(C) 15km

(B) 12 km
(D) None of these

45. Find the missing number (?) in following :

: (A)a L @4
5'. D) 6

46. ' Find the missing number (?) in following :
A 84| 1 81|19 3] J
1412 - [18]9] [2]11]

A8 _Br16
(©) 21 (D) 28

SET-D
42, = ST HRA B avvvninne . S Safgs
wfifa #t w5 €

(A) dred =feen
(B) & wfeen
(C) weeht #fean
(D) T ¥ *¥ TE

43. wofan =t 9k ¥ ywfaa B €
(A) oot (B) ¥4
(C) %% (D) feet

4. & = fag A 9 W 3 Tt @ =t
A aen W fag B W wE=ar # et 9% o
AR qE W T T & far g @ =W
fag C W vdam 21 9% [: W 3R qeH
f*3 A 9B % 99 &l g0 1 99 TN
™ AW A fag D W wESar g
v fag 91 T @ €9 =g sid
(@i W [R— 2
(A) 9 ferit (B) 12 fosit
(C) 15 fisdt (D) T ¥ ®IS T

45. ﬁwﬁa@aﬁﬁﬁhw(?)maﬁﬁq:

A3 (B) 4
©)s D) 6
46. Trfafen 4§ fafdn =r (2) 7@ wif .
84] 81] 8]
14{12| hgl9 2n
(A) 8 (B) 16
(©) 21 (D) 28

https://click4pdf.com/




httpys://clic

Vo W sty i e S ok

N Mooy 1 b gy L il s

By E ity sl Lastd
P D s
€) D ond Fawa
{’)‘,r D 44 G
9B, sk S by 14 35 L 3 -

fawt | g N
Lptaa T et rs

R mTE Oy

) P Fish L st () Ml ¥ i
D) Dkl ) Vanidisry 1) Comdhiss of

Ciiartidannt
) D By K (B) Crumdeys of
¥ amsgery
() Sidamsini Vi (8) K Kast
Cads
W B © W

A “ s -

9 4 Z 3 J

“© 9 4 j 2

(1)) W A thwn

VVsrsatioms (), oy, 89 & By . Youhl Shon Salirwiny
iligt swvintsaon 800 Aty sasal] s 1 Uhis 4ysiarinpsie
Y H Ity

Ky bo saom A branaoni's Vathinr's ihnr. Yo
o som A Divys, Wi is the mother o Cavray
sl wndansslysr of hawan, bainss v O Suthiay
A S aivy 8 widd gy ol Siuthony off Baavi, $Jpvya b wite
oA Ashik,

¥, How s ¥av) 1elaled W § v ya
(A) Heghww (3 Corandson
() tm (1)) B of thwse

A, Mo s Ganny's wite ishated v Sanys |
(A) Hises
(43) Bister
() Sistsr in law
(1) Mone of thess

T T PO ——

I!ﬂ_"

= A 2R
T
e muzgmw?ﬂm
] Lo
»r =z & —
E

yiEmaE o
E b A

e O TR T =
B W E R

= -

/ s @& © @

Ay 3 £ 3 5
® 4 2 3 ot
) 3 s 5 2
Wy o= %28

(et Y W) -
rimﬁwgiﬁﬁ
7 S
7, o B o A = T,
Yom wm wm ko frm B o e
% ) e, mox % e mm A % mm h

9, Vo G ey e g D Y
() whon - Yy
)%z W) 78 % =k =

. Wl ot b
=7

Ay »
£

J wrx
L -~
=

{C;Wnu
W)y v 4w =ff R A

pdf.coFf



PART - II (Based On Related Engineering Branch)
@us - 11 (wataa At yrar ot 3naria )

SET-D

51. In a single phase full converter bridge, the
average output voltage is given by :

Foct(/2)

1
(A) peg] NP V_ cos0do

\@/l ™" V, cos0do

1 p=t=x
(€) il V, cos6do

(D) None of these

52. In a3 phase semiconverter, the three SCRs

are triggered at an interval of :
LK) 60° (B) 90°
(C) 120° (D) None of these

53. Triac is equivalent to :
(A) Two SCRs connected parallel
\_(B)Two SCRs connected in antiparallel
(C) One SCR and one diode connected in
parallel
(D) None of these

54. The air standard efficiency of Ericssion cycle
for same temperature limits is equal to the

v efficiency of :

(A) Otto cycle
{7 (B) Rankine cycle

(C) Carnot cycle
5 S (D) Dual cycle

51. UF GHFA Gl b oo W siwa frfa
[ & g0 < S g

1 J--e+(m’2)

(A) ; R V,, cos0 do

IIH‘V cos0do
® ). Vo

© % [V, cose do
D) ¥ ¥ =¥ T

52. UG YHI FER H, wovrrres % T e
W @ SCR e & &
(A) 60° (B) 90°
(C) 120° (D) T ¥ #E &

53, TEAF e % gy g
(A) TR %9 & 92 ¥ SCR
(B) fagita @R w° ® 9 & SCR
(C) TR %9 ¥ J& TH SCR 1 TH
e
(D) T ¥ FK &

54. WA 9 e % foe R w9 g
T g, frefafas it am @ R B
2
(A) 3 =%
(B) ¥t =
(C) #Mie T
(D) 3T =F
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55. Which one of the following is correct in

S6.

57,

58.

htts's://clickd pdf. Com/

respect of Poisson’s ratio (V) limits for an
isotropic elastic solid :
(A) —0 <L V<
1 1
(B) —<v<-
) 2SVs -

©) -1svel
2

(D) None of these

The reactions at the rigid supports atAand B
for the bar loaded as shown in the figure are
respectively :

A C B

——>10:kN

Im . 2m .
N

ALLLLLLRAN
AANRKERNSSSS

(A) 20/3 kN, 10/3 kN
(B) 10/3 kN, 20/3 kN
(C) SkN,5kN

(D) None of these

Foralinearly elastic, isotropic and homogeneous
material, the number of elastic constants
required to relate stress and strain is :

(A) Two

(B) Three

(C) Four

(D) None of these

Which one of the following properties is
more sensitive to increase in strain rate :
(A) Yield strength

(B) Proportional limit

(C) Elastic limit

(D) None of these
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59. The speed-time curve for a local train is shown
in figure below. In this time, AB represents :

4‘\

A
Speed |B
o 4 4§
Time
(A) Coasting (B) Braking

(C) Acceleration (D) Regeneration
60. For normal SCRs, turn on time is :

(A) Less than turn-off time

(B) More than turn-off time

(C) Equal to turn-off time

(D) None of these

61. For an SCR di/dt protection is achieved
through the use of :
(A) Rin series with SCR
(B) REin series with SCR
L in series with SCR
(D) None of these

62. A metal oxide varistor (MOV) is used for
protecting :
(A) Gate circuit against overcurrent
) Gate circuit against over-voltages
(C) Anode circuit against overcurrent
(D) Anode circuit against over-voltage

63. Match ListIwith List I and select the correct
answer from the codes given below :

List I - ListIT
(a) Gears (1) Sprocket
(b) Belts (2) Friction
(c) Chains (3) Slip
(d) Clutch (4) Flank
Code: @ () () '@
(A) 4 3 1 2
B) 1 2 1perf cFeseni 4
© 2 3 4 1
D 3 4 1 2
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SET-D
4 fo3 ¥ @ WrAE 3F w1 fe-awe @
fea1 man %1 30 Mg H, AB WeRfa F@ ¢ ¢

A
A
fa B

| <
Ot 4 °
a

(B) sfem

(D) ToFT (forter)

T §HA SCR 1 T [ TEH ........ Tl 8
(A) T F THH | FH

(B) T % 2R ¥ afuw

(C) = 3% W & TN

(D) ¥ ¥ X &

T SCR & fau di/dt W=, .......... wam
& WK e W

(A) SCR® WY R ! &t §

(B) SCR & W™ RL &I vt &

(C) SCR & @9 L &I guit &

(D) T8 & *¢ &

T He RS IRER (MOV) F Faim
e 1 & TG fo ST R

(A) e vy sfaur

(B) e wftay =t sifaee &

(C) wie iy #t afq um §

(D) Tie vy %} sfeiees

T IR T 1 T A9 (frem) st
EBARSRE R R

S

I 1:@'1' I
(a) fr (1) T
(b) S ) i
(c) = 3) fey
(d) F= @) w5

H€: (a) (b) (© (d)

(A) S
(C) ®RY

A) 4 3 1 2
®) 1 2 3 4
€ 2 3 4 1
®) 3 4 1 2



64.

65.

66.

67.

Match list I with list IT and select the correct
answer from the codes given below :
List I List IT
(Gear type) (Applications)
(@) Worm gears (1) Parallel shafts
(b) Cross helical (2) Non parallel

gears intersecting shafts

(c) Bevel gears (3) Non-parallel, non-

intersecting shafts

(d) Spur gears (4) Large speed ratio

Code :
@ & (© @
(A) 1 2 3 4
B) 2 3 4

© 3 4 1 2
D) 4 3 2 1

If the gate current of an SCR is increased,
the forward breakdown voltage Vi, will :
(A) Increase

Decrease
(C) Not be affected
(D) Infinite

In d.c. choppers per unit ripple is maximum
when duty cycle o is :

(A)'0.2
B 0.5

(©) 0.7

(D) None of these

A thyrite resistor is used :

(A) To provide temperature compensation
(B) To generate phase shift

(C) To rectify very high voltage

(D) None of these
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68.

69.

70.

71.

72.

Grating are used in connection with :
(A) Angular measurement
(B) Surface flatness measurement

(C) Linear displacement measurement
(D) None of these

In limits and fits, term ‘Allowance’ usually

refer to :

(A) Maximum clearance between shaft and
hole

(B) Minimum clearance between shaft and
hole

(C) Difference between maximum size and

minimum size of a hole
(D) None of these

Which of the following device can not be
used to measure pressure :
(A) Strain gauge
(B) LVDT
(C) Pirani gauge
\_@}’Pyrometer

In Kando system :

(A) Single phase supply is converted into
three phase system

(B) Single phase a.c. is converted into
dc.

(C) Three phase a.c. is converted into
d.c.

(D) None of these

What is the advantage of double squirrel cage
rotor as compared to round bar cage rotor :
(A) The efficiency of motor is higher
(B) The power factor of motor is higher
(C) The slip of motor is larger

M The starting current of motor is lower
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73. Match List I with List IT and select the correct

answer from the codes given below :
List I

List IT
(@) ... in a device which (}) Transducer
measures to intensity
of radiation emitted
from a body
(8) ... is an instrument Reluctance

which measure ™.
humidity directly ,Z
(¢) A ...... is device whic (3) Hygrometer
convertes the energy
from one form to

another
(d) Transducer which‘/ (4) Radiation
make use of air gap pyrometer
change are refered as ‘
...... type
Code:
@ & o @
i 4 3 17 .S
B 1 2 3 4
<€ 2 3 4 1
D) 3 4 1

2 7
74. A temperature control system is known as :
Process control system
(B) Servomechanism

(C) Cascade control system
(D) None of these

75. Halls’s effect can be used to measure :
(A) Electric field intensity
(B) Magnetic field intensity
Carrier concentration
(D) None of these
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76.

77.

78.

79.

If*r’is the radius of circular orbit then the orbital
period of a satellite is directly proportional to :
(A) 2 () r'A
(C) r'2 (D) 2

For the 8085 assembly language program
given below, the content of the accumulator
after the execution of the program is :

3000  MVI A, 45
3002 MOV B,A
3003  STC

3004 CMC

3005 RAR

3006 XRA B

(A) 00H (B) 45H
(C) 67TH (D) E7TH

Co-channel reuse ratio depends, upon (in

mobile) :

a : Radius of the cell

b : Frequency allocation of nearest cell

¢ : Distance between the centers of the co-
channel cell

(A) aand b (B) aandc

(C)bandc (D) a,bandc

In the figure, the switch was closed fora long
time before opening at t = 0. The voltage
Vyatt=0%is:

_ “RUL=0
mﬂ? #})2.51\ \

5SH
_ 200
"=y >
(A)25V (B) 50V
(C)-50Vv D)oV

When the metal are severely deformed in a
particular direction, as in rolling or forging
the mechanical properties may be :

(A) Identical  (BY Tsotropic

(C) Uniform (D) None of these
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3000 MVI A, 45

3002 MOV B,A

3003  STC

3004 CMC

3005 RAR

3006 XRA B

(A) 00H (B) 45H

(C) 67H (D) E7H
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oyt
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ioniged stream of gas is known as :
(A} Plasma arc machining

(B) Laser beam machining

(C) Electro discharge machining

(D) None of these

81. Th}?thod of machining with help of

82. Two bodies of different masses M  and Mg
are dropped from two different heights a and
b respectively. The ratio of the time taken by

the two, to drop through these distances in
Vacuum will be :
(A)a:b

© Va:vb

B)b:a
(D) a?:p?

83. If the bandwidth of a resonant circuit is 10
KHz and the lower half power frequency is
120 KHz. Find out the value of the upper half

power frequency :
130 KHz (B) 125KHz
(C) 120KHz (D) None of these

84. A 4 pole, 3 phase, 50 Hz star connected
induction motor has a full load slip of 4%.
Calculate full load speed of motor.

(A) 1500 rpm Sz W -NY
1440 rpm R
(C) 1425 rpm (‘”5’ Ny
) None of these (S
® ot 4

85. A3 phase, 4 pole induction motor is supplied
from 3 phase, 50 Hz a.c. supply. Calculate
the rotor frequency when rotor runs at

600 rpm.
(A) 12Hz (B) ¢ Hz
(C) 3Hz None of these

86. Wickman gauge is employed to inspect :
(A) Screw threads ~ (B) Tapers
(C) Holes (D) None of these

\ v (oo
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82.

83.

84.

85.

86.
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g7. A capacitor of capacitance 1 microfarad is
charged to 10 KV and then discharged
through a wire. Find the heat produced in the
wire in calorie.
(A) 0.0119 calories (B) 1.19 calories
(C)A1.9 calories (D) None of these

88. For what purpose fhe stroboscope
instruments used :
(A) To synchronize synchronous motors
\}B}ﬂ‘o synchronize synchronous generators
(C) To synchronize induction motors
(D) To synchronize induction generators

The unit discharge (Q) and unit' speed (N)
curves for different turbines are given in figure.

89.

Which curve represent to Francis turbine :

| <Y :
< Z "
T —> N (unit spced) )3
A X
C)Z (D) None of these

90. The general equation of continuity for three
dimensional flow of a compressible fluid for

steady flow is :

du ov  ow

ko ST AR Win AR | |
W 55"y oz

\Mﬂ_;.i.fé‘l:
dx dy o0z

du ov_owW
C —=-——=——-=0
()ax Iy oz
(D) None of these

* oI~ ‘S K G N/
WORgES
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91.

92,

93.

94.

o

95

96.

In a salient pole synchronous generator
connected to an infinite bus bar, maximum
power is delivered at a power angle :

& =90° (B) § =45°
(C) 45° < § <90° D) §=0°

In'a 3 phase alternator the unsaturated
synchronous reactance is 3 ohms per phase,
The saturated synchronous reactance is :

(A) 3 ohms More than 3 ohm
(C) Less than 3 ohms (D) None of these

When two alternators are running in parallel,
if prime mover of one of the alternator is
disconnected, that alternator will :

(A) Stop running

(B) Runs as synchronous motor

(C) Runs as generator

(D) None of these

Aseries RLC circuit is supplied by 220V, 50
Hz. At resonance, the voltage across the
capacitor = 550 V, I = 1A, determine R,L
and C:

(A)R=110Q,C=3.63 uf,L=1.75H
R=220Q,C=3.63 uf,L=0.75H
R=220Q,C=5.75uf,L=1.75H
MD)R=110Q,C=5.75 uf,L=0.75 H

A certain optical fibre has refractive index of
clad (n,) = 1.40 and that of core (n,) =1.05.
Its numerical aperture will be :

(A) 0.8575 (B) 0.9260

(C) 0.3500 (D) 0.1585

Dispersion in an optical fibre used in a
communication link is of which type :

(A) Angular dispersion

(B) Modal dispersion

(C) Chromatic dispersion

(D) All of these
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97. Inan induction motor, if the rotor is locked,
then the rotor frequency of induction motor

Equal to the supply frequency

(B) Less than the supply frequency
(C) More than the supply frequency
(D) Zero

98. A servo control system for D.C. motor is
called a/an :
(A) Series control  (B) Selsyn
(C) Shunt control (D, plidyne

99. In spark ignition engines the knocking
tendency decreases :
(A) As compression ratio is reduced
(B) By controlling air-fuel mixture
(C) By controlling ignition timing
(D) By controlling exhaust temperatures

100. Piezometric head is the sum of :
(A) Pressure head, datum head and velocity
head v
(B) Datum head and velocity head
(C) Pressure head and velocity head
(D) Pressure head and datum head

101. The critical flow condition'in a channel is
given by :

QTZ _ anTz B
(A W =1 (BT gA3 =1
aQ’T

102. A plane travelling wave has a peak electric
field E, of 15 V/m. The medium is lossless
withp =land € = 12, find the impedance
of the medium :

n=108.83 Q
(B) n =106.25 Q
(C) n = 108.83 X 1072 Q
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103. The minimum number of NAND gates

required to implement A® B @ C is :
(A) 8

(B) 10
Wt

104, What is the mod number of asynchronous
counter shown (All J =K = 1) below :

o Q 1 Ip Iy T4
i D I—-4> > >
Clr K| cir K, cir Ka clr KycClIr
1

(A) 24 (B) 48
(C) 29 (D) 28

105. Calculate the total output offset voltage. The
input offset voltage and current are 2 mV and

150 nA.
500 K
5K N
Qe Vi + Vo
‘EK
0- 2 b 0:_\{_’ = 0
(#)300mv g @
(B) 540 mV e
(C) 277 mV
(D) 50 mV

106. An electric kettle was marked 500 W, 230 V
and was found to take 15 minutes to bring 1
kg of water at 15°C to boiling point.
Determine the heat efficiency of the kettle.

SET-D
103, 7T R NAND 2 #} sTavasar g
Ik A® B® C =1 99y M1 B o .
(A) 8
(B) 10
©) 9
(D) 6
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Ko CIr K Cir K, Clr K1 CIr
) (i T T
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105. T ARIYL HH Fee H TUAT FL) 7fe
T AW Siees 9 YR H1 HH HAW:
2mV 9 150 nA 21

500 K
SK >
Vi—vwWwwy i Vo
EK
(A) 300 mV
(B) 540 mV
(C) 277 mV
(D) 50 mV

106. T ST Faeh W 500 W, 230 V sifeq 21
w15 e F 1 fFm owe w5y o150C @
FAH (B.P) 7% T w3 1 wecht =
I TEAN I HifwT

(A) 70% (A) 70%
(B) 75% B) 75%
(C) 85% (C) 85%
(D) None of th
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Directions : Q. No. 107-108 are based on the
following figure.

W w
«—t — 2 5
Fa) A C B oA}

107. A beam is simply supported at the ends and
loaded as shown in figure. The shearing force

at the mid-point C will be :

W
(A) > (B) W
©) 2w \QJ)/Zero

108. The bending moment between the point A
and Bis:
(A) Increasingly linearly
(B) Decreasingly linearly
(C) Varying parabolically
(D) Constant

109. A 220 V d.c. shunt motor runs at 500 rpm
when the armature current is 50 A. Calculate
the speed if the torque is doubled. Given that
Ra=0.2Q.

(A) 476 rpm &= dxpll
(B) 525 rpm
(C) 550 rpm THkpla

(D) None of these

110. A 200 V d.c. shunt motor running at 1000
rpm takes an armature current of 17.5A.Itis
required to reduce the speed to 600 rpm. What
must be the value of resistance to be inserted
in the armature circuit if the orginal armature
resistance is 0.4 Q. Take armature current to
be constant during this process.

(A) 48Q
(B) 44 Q
(©04Q

HDS//clickdpdf.
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108. f75 A @9 B & w9 s Sl @
(A) Yaa: F=ar 3T
(B) e wear g3t
(C) Taafa® ¥4 # ufadeie
(D) feert

109. TF 220 V SLH. w92 AKX 500 rppm W A
F T T AR A U S50.A R AR
el vt A KA S nfq @ o
Fife, f&ar 2 Ra=0.2 Q.

(A) 476 rpm
(B) 525 rpm
(C) 550 rpm
(D) ¥ ¥ ®I§ &

110. TF 200 V .4, 3192 HT 1000 rpm T Ty
FW R AU 17.5A W uR @ @ D
mﬁnﬁﬁﬁoommwmwﬁa}m
HEvFHd & A TR AR ey § fra

A A R S g2 ? I 7@ iR

TR 04 Q1 @ whEm 2 S IEaery
yrr feer 3 s

(A) 48 Q
(B) 4.4 Q
(C) 0.4 Q




111. The following readings are obtained when
doing a load test on a d.c. shunt motor using
a brake drum :
Spring balance reading 10 kg and 35 kg,
Diameter of drum 40 cm, Speed of motor 950
1pm, Applied voltage 200 V, Line current 30 A.
Calculate efficiency of motor.
(A) 75% B) 77%
(C) 85% (D) None of these

112. The equivalent bending moment in case of
shaft subjected to combined bending moment

and tension is equal to :
M-yM?+T?

A) M+Jl;l"+T2 ®) 2
JMZ_TZ

© e (D) None of these

113. The relative efficiency of I.C. engine is :
(A) Ratio of brake thermal efficiency to the
thermal efficiency of a reversible cycle
: 9/@?: of indicated thermal efficiency to
the thermal efficiency of a theoretical
reversible cycle
(C) Ratio of thermal efficiency to theoretical

irreversible thermal-cycle efficiency
(D) None of these

114. The power drawn by 3 phase induction motor.
‘When first run in star connection and then in
delta connection, will be :

(A) /3 times power taken in star connection
(B) ’\/1—5 times power taken in star connection ’

(C) 3 times power taken in star connection
(D) None of these

SET-D

T Q. w0 WA W AT G Iy

" g om e O
frefefad € :

FAFRR g F wE@E - 10 oy
3sm,gmam—4oﬁ.ﬁﬂﬁﬂra

- 950 rpm, ¥IF deed - 200 dEE, W
Y - 30 TR

Tiex 1 e @ HI .
(A) 75% (B) 77%
(C) 85% (D) ¥ ¥ F T

112, 3fz fordt TR R dh g0 SR TH Tm
W w9 QA oW fE T @ age
mmﬁqﬁf@aﬁwmz
M+yM?+ T ®) M-vVM?+T? .’
2

(A) 5

YM2-T?

2

(©) (D) ¥ § i T&

113. 3<iSe 3o 1 MUTRTH &, oo Fed
(A) Tt SoRAIT T S JF FSHI &l
3R FH e & U B
(B) fosit fagra : SohAvilg = i Gfed
Fui e oK e qE F IR
-
(C) Fita e 3R T : Sewavig Si
| T W H STIIE Bl
(D) 7 ¥ ¢ 7

114.wﬁﬂ#ﬁwmmmm@mwraa
ﬂgﬁﬁmmﬁnﬁﬁﬁmﬁﬂm
°, @

(A) ®R 9357 # 3 T wfew o
; |
(B)Eﬂﬂﬁmﬂjg- T wife @

(C) =R |arem ¥ @ 1 wifew o
(D) 79 ¥ =i T&f
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115. What happens if the fielq winding of 3
running shunt motor suddenly breaks open :
f}y Its speed slows down

) Its speed becomes dangerously high
(C) It gives out sparks
(D) It stops at once s
116. Ward Leonard method for controlling the
speed of d.c. shunt motor is useq
(A) Where wide range from zero to normal

speed is required
(B) Where speed in both the direction is
required

(C) Where accuracy in speed control is

quired
\m{:u of the above

117. In a Broadcast superheterodyne receiver

having no RF amplifier, the loaded Q of the
antenna coupling circuit (at input of mixer)
is 100. If the intermediate frequency (IF) is
455 KHz, calculate the image frequency ()
and its rejection ratio (o) at 1000 KHz :
(A) f;=1190 KHz and o = 1.386
(B) £,=1455 KHz and o = 138.6
qe)/f%:= 1910 KHz and o = 1.386

(D) f,=1910 KHz and a. = 138.6

118. The tunnel diode :

(A) has a tiny hole through its center to
facjlitate tunneling

(B)i§ a point contact diode with a very high
reverse resistance .

(C) uses a high doping level to provide a
narrow junction -

(D) works by quantum tunneling exhibited
by gallium arsenide only

ttps://c
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115. 1 G wiafh Tk TRl e Het F &
RUSTH FHAAF T B GA T :
(A) Eat Tfq it & s
(B) S9! Tfd @A F9 F I=F & A
(C) a8 &% HT @it
(D) g% T TF Rl

116. 4. wve Hex # f FEEn @ fag ad

fode fafy =1 w@m faman s @ -

(A) V&l 9¥s 1 ® Y@ § g fd 9
SATIRAT &

(B) W&l wifa I feensll o emava® @

(C) et nfey Fa=vr ¥ wagit &1 sTavgehar
K|

(D) SWiw |+t

117. t& gRfeetera fifaer & foad @€ RF
Yee T 8, QA & g ufigy (Fufe
qfi@y) 1 Q 100 ® (e = TR W)
g yuerifswe smgfa (IF) 455 KHz & @t
™ I (f) 9 foawm W (o) F1 "
1000 KHz W 41 B :

(A) f,=1190 KHz 9 0. = 1.386
(B) f;=1455 KHz T o. = 138.6
(C) f,=1910 KHz 9 a = 1.386
(D) £, =1910KHz 9 . = 138.6

118, =9 SM@IE

(A) ¥ =@ W Y T A A ™ o
fox e &

(B) % @Rz Wyw sEE € frme fad
yfoY 9ga & 3= o @

~(C) 39 e 'R =1 wEm fea s
et fr S (Se) ww <y o

(D) Faleq Afdm W 1 www & W fy
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119. The biggest advantages of the TRAPATT
diode over the IMPATT diode is its :
(A) Lower noise
(B) Higher efficiency

(C) Ability to operate at higher frequencies
(D) Lesser sensitivity to harmonics
120. The fixed bias circuit as shown is used as
collector bias circuit. What is the value of
Ry ?2Q point (9.2 mA, 4.4 V), the transistor

has dc current gain 115, Ve =07V, V

9V,R.=500Q. ”

Vee
Rg Re

(A) 500 Q
45.75k Q
(C) 75.42k Q
(D) 125.63k Q
121. Match list I and list IT with correct answer :
List I List IT
(a) Wein bridge (1) low output
oscillator impedance
(b) Voltage shunt  (2) RF frequency
feedback range
(c) Crystal oscillator (3) Audio frequency
range
(d) Current shunt  (4) High output
feedback amplifier =~ impedance
Code:
(@ & (© (j)
(A) 2 ) /

B) 1

SET-D
119. TRAPATT ¥141$ &1 IMPATT 31418 R Tag
agramw% :
(A) F9 TR
(B) 3= g&rl -
(D) T W %W gufed

lzg.ﬁmmmmw%,%
FARR AAG Y WE TG A @ 8l Ry H
TH T F lh Q WEE (9.2 mA, 4.4 V)
3 v @ AH. U oA 115 2
Ve =07V, Vo =9 V,R; =500 Q.

VCC
.
YWWWWY
(A) 500 Q
(B) 45.75k Q
(C) 75.42k Q
(D) 125.63k Q

121, SRUft I i ¥Roft 1 % Wet S firemsd

et 1 et 11
(a) F-Fst e (1) #w CSEACS
e i
) yie (2) RF &
Hed® ik
() fF=a Afed (3 ;;m Igfa
(d) U V2 WeAF  (4) T4 SR
FIGEIL]
e |
@ & @© @
A)
(B)
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122. A transformer is connected to 2200 V,40 Hz
supply. The core loss is 800 watts out of 600

watts are due to hysteresis and the remaining
eddy current losses. Determine the coreloss
if the supply voltage and frequency are 3300
V and 60 Hz respectively :
(A) 450 Watts
(B) 900 Watts

(@) 1350 Watts
(D) None of these

123. Pick up the correct statement :

(A) The surface roughness increases with the
decrease in coefficient of friction
between tool and the material

(B) At slow speed roughness decreases as
the positive rake angle increases

(C) The surface roughness decreases with
the decreases of nose radius ,

(D) The surface finish is independent of
cutting speed, feed and depth of cut

124. In the impulse turbine if friction is neglected

the : B

(A) Relative velocity at inletand outlet is of
the same magnitude

(B) Passage of the steam over the moving
blades provides the motive force

(C). Pressure increases as it flows over the
moving blades

(D) Work done is zero

125. Two similar 250 KVA single phase

transformer gave the following results when
tested by back to back method :
Mains wattmeter W, = 5.0KW
Primary series circuit wattmeter W,=15

KW (at full load current) .
Find out the individual transformer efficiency

122,

124.

- et 2
2200 dee, 40
géuﬁaﬂmmﬁ 800 ae & & 600
IR feefifad & SR a4l JaeN Jax ¥l
aﬁ*m%mﬁmﬁa’i&mwm
HA: 3300%3211603‘{613131#331%
T HIfST :

(A) 450 A

(B) 900 A

(C) 1350 &
(D) T q H§ T

123, freffa el ) O T N ¢

(A) ST o e @ e o o A
i @ WY IS T e ©

(B) %9 T W TE wed ¢ FD YD
& F9 95 8

(C) e fe 9 T4 F W TS TEA
wedt B

(D) T uftawen A 7fd, WO T4l HeH
Ft e R R T A E

S =R | gk oo g w1 g e

e

(A) FToR U1 ST W AFEF A T
o &1 g @

(B) TIfeRitet Helhl T A9 1 ¥aT8 & W
I I H 2 |

(C) W9 & Tfaeie ol | Yared 89 W
@ ¥ gfg et ?

(D) fFd ™ T F1 wRAm Y= e ?

125. % WA 250 KVA T& Helld JFAGIR 1

& 3% 3 4 fafe g e fean T A
frefefan sftom o gu e

T 9 WX W, =5.0KW

wafids Joit wRew AR dew Wy =7.5 Kw
(qof ¥R ¥R R))

75% T YR @ 0.8 wiw o e

at 75% full load and 0.8 p.f. leading. (HfET) W e grrwnft it e s
(A) 97% (B) 95% (A) 97% B) 95%
92% (D) None of these (C) 92% D) T { ¥ T

s://click4pdf.com/



T
126. Which of the following formula is correct :
) KVA= (kW) + (KvaR)?

(B) KW = KVA cos ¢
(C) KVAR = KVA sin ¢

Ml of the above

127, T_wo forces P and Py/2 act on a particle in
directions inclined at an angle of 135° to each

other/Find the magnitude of the resultant, i I/[*'
P Y
5 g_ﬁf |

L

(B) Py2 Ny
Y
X

(©) sp
(D) None of these

128. Two vectors of €qual magnitude when added
gave a resultant equal to the either vector.

What is the angle between them :
(A) 30° (B) 45°
(@) 120° (D) None of these
129. Find the centre of gravity of ‘T’ section given
in figure'with respect to x and y axié :

e

o~

* 12¢m

1% 3cm

10 em

0]

(A) 6.30 cm
(C) 11.25cm

>X

(B) 8.54 cm
(D) None of these

=3 -
cm

|
130. The brake test for the determination of

efficiency of a d.c. machine is ............ .
(A an indirect method

(B) aregenerative method

(C) adirect method

(D) None of these

A\

L4 |

8 “

SET-D
26T AR e A s TR 2 .

(A) KVA= [(KW)" + (KVAR)?
(B) KW = KVA cos ¢

(C) KVAR = KVA sin ¢

(D) 37U it

127. A9 P TN P2 FFTRIA WG &
W T TR R 1350 B 3EE 3 Rew &
A B RO 9 9fmmr # TET Ffg
(A)-P

(B) P\2
(C)'sp
D) T ¥ F 7o

128. & 1 TR YRA % da Fi wiver o
@ SfomH w1 T R U 99 & T @

AR W< B 81 37 I A9 B g w5y
WER]TET’H:

(A) 30° (B) 45°
(C) 120° D) 79 ¥ ¥ T
129. o & & T T Vv 1 x o y o @
W T B B T FI

12
ﬁ $ 3 &

10 |t

—>X

ok

313 -

(A) 6.30 g+t

(B) 8.54 4t
(C) 11.25 9t

(D) ¥ 3

130. S5, WM F <5 F T TS B w3
=

-----------



431, If two spr-ings of stiffness k, and
com'lected in s?ries, then the stilﬁ‘ness l;i‘;ra:
equivalent spring which wil] strech by the
same amount will be given by :

k, -k, kk

0 1X2

(A) kik, (B) k, +k,
k,+k,

© k, -k, (D) None of these

132. In tempering process the steel is heated to a
temperature :

(A) Below the lower critical point

(B) Higher than the lower critical point

(C) In jbetween the lower and upper critical
point

(D) Higher than the upper critical point

133. ‘Sorbite’ is obtained when :
(A) Quenching steel during transformation

(B) Steel is annealed

(C) A fully bardened steel is finally ‘drawn’
at about 677°C

(D) None of these

134. With the increase in supply, frequency of
transformer, there is ............. in rating.
(A) Decrease
(B) Increase
o change
(D) None of these

135. Helical winding is suitable for :
(A) Low voltage winding of small transformer
igh voltage winding of small transformer
(C) Low voltage winding of large transformer
(D) High voltage winding of large transformer

gt
mm—@ﬁwqﬁqmﬁmﬁam,ﬁ
e Frefafead g1 =3 F S wwdt
k, -k kiky
(A) lezz ®) k, +k;
k,+k g
© k:tkj @) T & P TE

132, Jwafer F whea § veam I Frefatea
A S WGH S € (}r

133.‘maf_§z' (Sorbite) Fr=ifafaa feafa & wr<
T ® e
(A) vEfF TYa B WE TG H I
foran <=

(B) TafF 3o T IHelner fhar <

(C) wraf fereht qola: AT T Hl T
677°C W19 T 3f<H ®9 | Hfdad H
e -

(D) ¥H | *i¢ &

lsd.mﬁmaﬂqﬁﬁ HH
Ig& WA ...l . BT 3= -

(A) Hrt

®) 3fs

(C) ®i¥ uftadq &l

(D) ¥9 & =¥ T

135, ¥chhel HUSET ........... £ UG

(A)aﬁ'&mmﬁt%ﬁqa’lﬁrémﬁugi
m)aﬁém%ﬁa\mm
(C)a:%;mﬂta%ﬁwaﬁmm
(D) ¥ FETR B I= Aeear goeen
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136. Losses in a transformer are :

(D) Hysteresis losses (I) Eddy current losses
(IIT) Copper losses

Open circuit test of a transformer gives :
(A) Ionly

(B), 11 only
(C) I+ 11 only \/qz{ I+ only

The angle at which the compound rest is set
for turning a taper job is :

137.

a4 D+d

(C)'tan—] D;’d (D _1D_d

Where D = larger diameter, d = smaller
diameter, [ = length of job

138. In upmilling, the cutter rotates ;
(A) Against the stationary work piece
(B) In the same direction of travel of the
work piece
(C) Against the same direction of travel of
the work piece
(D) None of these

139. In a steam engine the change in internal

energy equal to :

(A) The work done during whole of the
Rankine cycle

(B) The work done during adiabatic
expansion only

(C) The work done during compression

(D) The change of enthalpy

140. Calculate the percentage voltage drop for a
transformer with a percentage resistance of
2.5% and a percentage reactance of 5% of
rating 500 KVA when it is delivering 400
KVA at 0.8 p.f. lagging.

(A) 4%
(B) 6%
©) 8%
(D) None of these

ttPs://click
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136. TF TAETER § eF At st € . .

() feRfifen wif@l (1) =R um wifg
(II1) 7= Tt

TH TEEER B G I qhEm § g

TR

(A) =aa | (B) ae 11

©)FFA@ U+ (D) Baad 1+10
137. {6t 3w <ifa =) @ & fon A 3%

w1 Frafafed & & few o g wenfi fwa

ﬁ'ﬁﬂ% i n

@ 22 gy g -4

4 D-d . D-d
NORERT = D) e

el D = 96q =M, d =Y =0, /=4 # o
138. srafifein & et sui @ @
(A) feer FriEve & faeg
(B) @ %t T fewm w1 fewn &
(C) ®rfEve #Y = frem # foada fem
L

D) 75 3 =

139. 0% 99§99 § wwfRe oo § wied
Frfafen & w2 -
(A) Tt o ww = <hm fea @
Eop

(B)ﬁmwmﬁﬁmﬁr&ﬂﬁ

(C) i & M fFd T =4
(D) o S § gfgds

140. TH 500 KVA R &1 Whivm sieer-am
aﬁmﬂﬂﬁqﬁwuﬁmﬁuﬁﬂuz.%
e Wi fAR= 5% 2, wafw @w 08
T (Aft) v e w400 KVA

(A) 4%

(B) 6%
(C) 8%
(D) 79 ¥ % =
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141, Find the most economical valye of diameter

142.

143.

144,

145,

of a single core cable to be used op S0 KV
single phase system. The maximum

permissible stress in the dielectric is ot to
exceed 40 KV/em.

(A) 7.06 cm
(C) L.77 em

(B) 4.52 cm
(D) None of these

If two rigid bodies A and B are moving in the
same plane relative to a third rigid body C,
then the instantaneous centres of A relative
to C, of B relative to C and of B relative toA
all lies.

(A) In a straight line (B) On a same point
(C) Onacircle (D) None of these

The reverted gear train is :

(A) A special type of compound gear train
in which the first and the last gears have
the same axis

(B) The gear train in which each
intermediate gear shaft carries two gears
which are fastened together rigidly

(C) One in which each shaft between the
follower and driver carries one gear only

(D) The gear train with arrangement to make
the gears in the reverse direction

A 2-wire d.c. distributor 200 meters long is
uniformly loaded with 2A/meter resistance
of single wire is 0.3 Q/km. If the distributor
is fed at one end, calculate the maximum

voltage drop.
(A) 10 volt (B) 12 volt
(C) 24 volt (D) None of these

Back up protection is used to protect :
(A) Over voltage
(B) Over current
(C) Transient current
Short-circuit

141.

142.

143.

144.

145.

SET-D
@soKv@mv‘wﬁﬂ'WW
Fre wfta F1 A™ F AR FTHATRA
7 T ) e § sfuwe S
R®g %1 79 40 KV/em @ sifes T &
feul
(A) 7.06 Tt
(C) 1.77 &+t

(B) 4.52 Tt
(D) T § FE Tl

7z 2 35 fivs A 7o B 75 W g fUs
cﬁm?;i@ﬁwﬁnﬁimt%z‘t,a’r
C @ Wiy A T Al 3%, C ® Wy
B @ aRefos % R A® WAE B H
At B wht Eferd B

(A) T T @ W (B) T # g W
O@T® (D) ¥ FF T

Yo iR 3 B ®

(A) TF favy W &1 dfies firR 37 foed
wa R afm i +1 3w A
o ®

(B) firm &7 fore Wi Wegardli iR W
ﬁﬁﬁﬁma&%ﬁwwﬁ@%
T

(C) firr 37 formd Mt Sik wrerw & &=
TS MR ¥ $ad & & frm g @

(D) freR 27 o fird =) faoda feam &
Tq A H Eed B

TH 200 HX o=t 2 9k . faaww 2
it ¥ T9H ®9 § W@ 81 T R
1 Wy 03 dAmfEd 1 Ak fams
fR R wf@m ? a sifusay Seea @ 5=
M1 SifSg)

(A) 10 T (B) 12 s

(C) 24 9w (D) T8 ¥ FE 7
IF I WRRA F W q W E
fow o sm #)

(A) R dest (aif Sreean)
(B) AR Ft= (3fq ury)
(C) vz =

(D) YR-gfez
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146. The rate of rise of restriking voltage depends 146. fgmfen dieea #1 3 :1 < ........... fasi
upon : Ht 2
(A) Types of circuit breaker (A) §fhe 9 & FFR W
(B) inductance of the system only (B) %ol YUTeh B Weohed T

ﬁ: capacitance of the system only (C) %aet yomet # Hfufaew w
) Both inductance and capacitance of the (D) WUt & Wihed a9 Srargeg S|
system "

147. A transformer rated 200 V/500 V, 10 KVA 147. T& 200 V/500V, 10 KVA T & Irawni
has a core loss of 100 watts. What is the w1 HT T 100 TR B ITWERR =@
maximum efficiency of transformer at 0.8 e <&rT 0.8 Tr=Tet (AfT) MRS
lagging power factor. If full load copper loss W Erf ? ik ool wR W aw w1 200
is 200 Watt, e 2
(A) 94.5% (A) 94.5%

(B) 96.6% (B) 96.6%
(C) 97.3% (C) 97.3%
(D) None of these (D) 79 ¥ = =

148. A 250 V/ 500 V, single phase transformer 148. TH 250 V/ 500 V Uhehcila ZRIBTR 3 legor
gave the following test results - ¥ o< viom frefafe € .

Short circuit test (LV short circuited) : 20 V, Y Yfem wRey wdew (Fe e @y
12 A, 100 Watts qferd) : 20V, 12 A, 100 52

Open circuit test (L.V. side) : 250 V, 1 A, G W9 wligrr (Freaieedr @Es) < 250V,
80 Watt.

1A, 80 9=

Determine the efficiency of transformer when IWEEH F WA w@ #fww w&@tw

the output is 12 amp., 500 volts at 0.85 power

0.85 wifdd T Yv=rmRt (Bfitr) | finlg
factor lagging. 12 TR, 500 S ®
(A) 94.5% (A) 94.5%
(B) 96.6% (B) 96.6%
(C) 97.3% (©) 97.3%

(D) None of these (D) 79 ¥ = =&

149. Consider the frequency modulated signal 149. fa wigerRe foret e fan gom &
10 cos[2m x 10° t + 5 sin (21 x 1500t) 10 cos[2n x 105 t + 5 sin (21 x 1500t)
+7.5 sin (2r x 1000t)]

+7.5 sin (2r x 1000t)]
with carrier frequency of 105 Hz. The R W 105 Hz $few Igf {1 wigeRA
modulation index is : H F TR i

(A) 12.5 (A) 125

B) 10 (B) 10

(C) 75 ©) 715

D) 5 D) 5

https://click4pdf.com



150. The total propagatiop delay through
74HCO04 inverter is knowy to be 24ns, \ifha:
is the maximum clock frequency that can be
used :

(A) 41.7 MHz
(B) 83.3 MHz
(C) 20.85 MHz
(D) None of these

151. A signal is sampled § KHz anq ig quantized
using 8-bit uniform quantizer Assuming SNR
for a sinusoidal signal, the é’orrect statemen%
for PCM signal with a bit rate of R

is:
(A) R =32 kbps, SNRq =498 dB/

%\ R =64 kbps, SNR_ =55.8 dB

= 64 kbps, SNRq =498 dB
(D) R =32 kbps, SNRq =258dB

152. A video signal transmission system transmits
625 pictures frames per second, Each frame
consists of a 200 x 200 pixel grid with 64
intensity levels per pixel. The data rate of the

SET-D
150. 74HCO4 T § @ ARl & 30 (PR
fedl) 24 ns 81 WA H AR AR AR
Fe Sgra e |
(A) 41.7 MHz
(B) 83.3 MHz
(C) 20.85 MHz
(D) ¥ | HIg TRl

151, forelt forerer ) 8 KHz ¢ &t fove < &
msﬁzmwmmwm
T %1 T A (Sinusoidal) et @ foIg
SNR @ PCM el & fe fae @ R # AR
asﬁquqﬁﬁﬂﬁﬁWﬁ=
(A) R =32 kbps, SNR_=49.8 dB
(B) R = 64 kbps, SNR_=55.8 dB
(C) R =64 kbps, SNR_=49.8 dB
(D) R =32kbps, SNR =25.8 dB

152.@%@%%@@@625#@_
JFve o yOia &@ Bl Yds WH ﬂ
200 x 200 Toaaat fire (Seh) #1 freaa o
64 T w1 21 faed =1 2 W (SR ©)

[ = B = I -]

system is (in bits/sec) : =0 e (fregRwvs ¥) -
(A) 6.4 Gbps (A) 6.4 Gbps
(B) 600 Mbps (B) 600 Mbps
(C) 150 Mbps (C) 150 Mbps
(D) 1.6 Gbps (D) 1.6 Gbps
153. As the transmission voltage increases, the | 153, <19 g EI’IE?H % gfg #t Wt @ whiw
percentage resistance drops ........... ; TR EE A ..., il
A) 3
(A) Increase e i
ecrease
~(C) Remain constant (©) ﬂ?f%qgﬂﬁﬁ T (fer)
(D) None of these (D) ¥4 ¥ =g &
154. For a transmission line the constantA, B, C, 154, ¥R T & e P A,B,C 91 D
' : : T YR Tty 2 .
and D are related as :
_BC=1 (A) AD-BC=1
\%/gg_m=1 (B) BC-AD=1
C . il
(C) JAD-BC=0.5 :D; mmﬁ %g ;gf.s
(D) None of these
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155. For the overhead transmission lines, the self

GMD method is used to evaluate :
%){lﬁ:ctance
Capacitance

(C) Both inductance and capacitance
(D) None of these L

156. The main function of shielding in neuclear
reactor is provide protection against :
(A) a-rays (B) B-rays
(©) y-rays (D) None of these

157. A and B are two points on the same link. The
direction of the velocity of B relative to A is ;
(A) Parallel to the link AB
(B) Perpendicular to the link AB
(©) 45° to the link AB
(D) None of these

158. The power transmitted by a belt drive is

maximum when running at a velocity equal
to:

T, T,
A 3w ®) \3wg

T T,
© =t @) |32

Where : T = Maximum tension

159. A 132KV transmission line has the following
data :
Weight of conductor = 680 kg/km, length of
span = 260 m, ultimate strength = 3100 kg,
Safety factor =2
Calculate the height above ground at which
the conductor should be supported. Ground
clearance required is 10 meters.
(A) 122 m (B) 12.7m
(©) 13.7m (D) None of these

SET-D
155. frft g=ror @ & faw 9% GMD fafy
EQIR 1) (R F A TA FA & fog

(C) Wehew qen hfufae=a Ml
(D) ¥4 | ¢ 7l

156. TfsehT Rdeet o e (shegin) =1 ge
mﬁqﬁm%ﬁmmwmm%:
(A) a-fadt (B) p-fohtdi
(C) y-foredt (D) 39 Q@ &g el

157. 3 A 3R B @ & d (feiw) W R &)
feg s a1 A % W B & 3w =t fawn @i .
(A) 35F AB % TR
(B) 9% AB % wEd

 (O)TS® AB ¥ 45° & v R
(D) ¥ ¥ I &

158. w1 uftare g wifd deror sifysaq e
2 afk ofeer w1 91 frefefa & o

o 7
/T_m /Tm
A) \3w ®) \3wg
Tng Tng
(©) ,/ W (D) \/W

&l : T, = SRR T T

159.? 132KV =0 &9 %1 fefafag =

T ¥R = 680 fhfedt, T =t e
=260 HIX, T B =3100 ferm, e
o =2

IH ¥ SR SO w1 A S e w
T H AR et =ifew) T ey
10 WX EvaF 2 ‘

(A) 1227 (B) 12.7 W=

(C) 13.7 7im (D) ¥ ¥ #% &
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160. The empirical formula for the design of sha 160. Tifee = fesméd & fag Wr h& ﬁqsiE‘aTﬁ;Dﬂ

is given as :
g sgaa feRar =T qHd ¢
RPM.
(A)d= cm R.P.M.
CxHUP. (A)d= CxHP
HP.xXC
(B)d= cm HP.xC
RPM. == Wl
(B) 4=y RPM.
HP X
(C)d=3}
A vl © a= o
(D) None of these
Where : (D) 3’1"} RAL B
H.P. = Horse Power vifsa
R.PM. = Revolution Per Minute H P ~
enigiod i nute léPM =% wfa f7e
161. In li(::zsign of thm cylinder, the thickness of 161. Tach <raR o fafdst =t fesmda # fafast
cylinder plate is calculated from the relations : 3 e i A frafafed g3 510 9@ Sl
A) T PD 1 Wt ®
(&) T=—7 |
- ; PD
PD ) @WT="F
ft
®) T=25 PD
® T=75x
(C)T= " 2PD
(D) None of these LA ft
Where : o (D) '5"1"3' | HIg &l

D = Internal diameter of cylinder

T = Thickness of cylinder plate
T = fftiet @ %1 et

ft = Tangential or hoop stress
P= Internal pressure ft = woTRE 1 s whee
P = i =

D ﬁi‘astmmﬁﬁa;am

Calculate annual bill of a consumer whose 162. T I9viert & A faet Torn i fema

162.
maximum demand is 100 KW, pf. =038 sfysam | 10
lagging and load factor 60%. The tariff used T (fT) %EWWW ‘I‘TFFO = 0.8
is Rs. 75 per KVA of maximum demand plus woa Hew fuwad aﬁlﬁ‘?a;s 6;)1%[/0, Ifx
15 paise per KWh consumed : e T S 15 ¥ 5 KWh 3 KVA
(A) Rs. 88125 (B) Rs. 83125 (A) %. 88125 o |
(C) Rs. 78125 (D) None of these (C) T 78125 D) wt -gl'z-;'\-g .
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163. Ina33 KV overhead line, there are three units
in the string of insulators, If the capacitance
between each insulator pinand earth is 11%

of self capacitance of each insulator, find
string efficiency.
(A) 75%

(C) 90% o
0

(D) None of these

164. Mho lay is used to protect :
“@(ﬁzng transmission line
(B) Medium length line

(C) Short length line
(D) All of these

165. The intrinsic impedance of a lossy dielectric

medium is given by :

jop joe
(A) = Fr

B)

Tl
jou B
© \}(c+jcn €) (D) \/;

166. A rectangle waveguide of internal dimensions
(@=3cmandb=1 cm) is to be operated at
TE,, mode. The minimum operating

frequency s
(A) 6.25 GHz (B) 10.5 GHz
(C) 31.6 GHz (D) 15.8 GHz

167. The signal flow graph of a system is shown
C(S)

in the figure. The transfer function E(_S) of

the system is :
R(S) 1 1/8 6 /s

& &

-3
_2 i
1
C(s)

6 5 ~ 68
b=l S?2+29S+6 ( S2+29S+6

S(8+2) S(S+27)
© 29+ ) §4295+6

. SET-D

163. TF 33KV Rriaf o o s=getet #1 vt o

T e Tt ¥ Ak velE e f

mia’»‘a’?a%ﬁfe@mmm,mméa

% W B Hw1% T D et e
I Hifem)

(A) 75% (B) 80%

(C) 90% (D) 79 ¥ F 7
164. %1 T =1 wamr o % W % fag

foFan < 1

(A) Tt H9t0 @

(B) Wem o % AR

(C) #9 IR &% e

(D) 3w g+t
165. W& wif R e @ sfefSe

i fa & & =7 2

jop joe
(A) == ) :

166. T% AR dge F R g
a=3em 9 b=1cm &, <t fF TE,, we §
gﬁmm%uﬁmﬁwmmﬁr

(A) 6.25 GHz
(C) 31.6 GHz

(B) 10.5 GHz
(D) 15.8 GHz

167.=ﬁ%‘tﬁﬂn'&ﬁaﬁfmammmw

6S
() s2+208+6 B S?+29S+6

S(8+2) S(S+27)
§*+208 46 (D) S2+298+6

(©)
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A

o, The maximum demand of a power stafiar :
) 100 MW. If the annual loadpofa c:(I)rstatlon 18
calculate the total energy
(A) 3.5 x 10°KWh
(B) 3504 x 105 KWh
(C) 3504 x 10 KWh
(D) None of these

is 40%,
generated ina year ;

{69. A generating station has an installed capacity
of 50000 KW and delivers 220 x 10 ypjts
per annum. If the annual fixeq charges are
Rs. 160 per KW installed and ranning charges
are 4 paise per KWh, determine the cost per
unit generated.

(A) 6.50 paise

(B) 7.00 paise
(C) 7.64 paise

(D) None of these

170. The current from neutral to ground
connection is 12 A. Calculate the zero phase
sequence component current in each phase.
(A) 2A (B) 4A

C)6A (D) None of these

171. The Bell Coleman cycle consists of :

(A) Two adiabatic processes and two
constant pressure processes

(B) Two adiabatic processes and two
constant volume processes

(C) Two isothermal processes and two
adiabatic processes

(D) Two constant volume processes and two
constant pressure processes

172. The by pass factor (B.PF)is expressed as :

dtl - teoil dtl - twil
(A) dt2 - twﬂ (B) dtz + teoil
C)- (D) None of these
© dt, +1ei

-

hd
/
\J‘
SET-;
o iR &% T e J 100 MW el
mgaﬁmmwm%%mﬁaﬁﬁa
S o #1 ORI ¢
(A) 3.5 x 105 KWh
(B) 3504 x 10° KWh
(C) 3504 x 106 KWh
D) 7 ¥ F T

169. TF W B I &l S0000KW ?
qai\q;asuﬁraﬁzzoxwﬁv{ﬁzfsr-ﬂatm
3| oz e fFee o= 5. 160 Ffd KW
wﬁawrﬁnmﬁ4ﬁﬁuﬁl{%€ta’r,
uﬁqﬁzaﬁaaﬁqmmﬁuﬁwﬁm:
(A) 6.50 T (B) 7.00 )

(C) 7.64 W D) T q F T

170, 7 ¥ T T F U 12481 TR
9§ Y N ATHA A 4 BT A
Y
(A) 2A
(C) 6A

.
.

(B) 4A
(D) ¥ ¥ Hi3 T

171, Ye-ier o § Frafafea fifed o 2 -
(A) 2 g whiward T < feer 3 whwarnd
B) N Te= WA w F R s

BIERI
© R Wi giwad ™ R} T
PERIL

(D) A fer s whea T < fer @
RIERI

172. 'o;;a uF (B.PF.) Fr=fafes vy o =g

N ©
dt, —to dt, —t
(A 1 “coil
) dt2 _tmil (B) dt2 +tw{|
dtl + tc:oil
© d,rr,, O IR
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173. According to Newton’s law of cooling, the
rate of heat transfer from a solid surface of
area A, at a temperature t;, to a fluid
temperature t,, is given by :

h
(A) Q= X(tl_tz)

(B) Q=hA(t, +1,)
(€) Q=hA(t, - t,)
(D) None of these

174. Liquids are generally used as insulating
materials upto stress of about :

(A) 100 MV/cm

(B) 50 MV/em

(C) 50 KV/cm

(D) 500 V/cm

175. Van de Graaf generators are useful for

(A) Very high voltage and low current
applications

(B) Very high voltage and high current
applications

(C) Constant high voltage and current
applications

(D) None of these

176. The corona effect can be minimised by
increasing :

(A) The length of conduct
(B) Spacing between conductors
(C) Diameter of conductors

(D), Both spacing between conductors and
diameter of the conductors

SET-D

173. 327 % Yidaed fE8 & AR ¢, 99 W
feerd A g &mhal are el O 4 t, g
R feo fordl T HI 3 S F =10 F1
R Frefafaa g =ae #1 9 2

@) Q=1 (-t

(B) Q=hA(t, +t,)
(€) Q=hA(t; -t
(D) ¥9 & #1§ Tef

174, SgRet W & w9 F w4 B 99 59 A
Y T o, T B 2l

(A) 100 MV/cm
(B) 50 MV/cm
(C) 50 KV/em
(D) 500 V/em

175.;1=réwrrﬁia ............. % fau e
(A) fd 3= sieea o frum swEm

(B) #fa I=3 wiwear @ I=9 um

(C) feort 3= dicear @ U STy
(D) 71 ¥ g e

(A) 9% TR H =R
(B) @i & e fod wH (3h)
(C) aehi 1 =419

(D) =i & < i T (30) aon 9
F A A
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47. Who translated Meghdoot, the famous work
of Mahakayvj Kalidasa in Garhwali language :
(A) Acharya Dharmanand J amloki
(B) Pt. Om Shankar Joshi
(C) Shiv Gopal Rawat

(D) None of these
48. Match the following List I to List II :
List I List IT
Name (Pseudonym)

(Famous Person)

(a) Pt. Harsh Dev Joshi (1) Maulik Pandit

(b) Badri Dutt Pandey (2) Gandhiof
Uttarakhand

(¢) Nain Singh Rawat  (3) Chanakya of

Kumaon
(d) Indramani Badoni (4) Kumaon Kesari
Code :
@ & @© @
A 1 4 3 2
B) 4 2 3
) 3 4 1
(D) None of these

1
2

Directions (Q. No. 49 & 50) : Read the following
information carefully and answer the questions
given below :

Ravi'is son of Aman’s father’s sister. Ram
is son of Divya. Who is the mother of Gauray
and grandmother of Aman. Ashok is the father

of Tanya and grand father of Ravi. Divya is wife
of Ashok.

49. How is Ravi related to Divya :
(A) Nephew (B) Grandson
(C) Son (D) None of these

50. How is Gaurav’s wife related to Tanya :
(A) Niece
(B) Sister
(C) Sister in law
(D) None of these

aror A feen foen ¢
(B) U. i ¥ Wt
(C) forar Tirre T
(D) T J H T

48, R fed et 1 e Sl 19 e
Tt 1 gt 1

(3T )
=i )
(@) 6 7 33 st (1) wifew s
(b)aﬁﬁ '33[@"33’7[
e
(c) ¥ fifg T /\(3) S F SRy
%He

4 3

(B) 4 2 3 102

C) 3 4 1 2

(D) T ¥ i T
fdm (v d 9 @ o | 50) : v mr
Wﬁmu@m@&n&wﬁ
%Wﬁﬁ(:

9, 3 & fomr @t s & der $Tm,
feom & et ¥ S e %t ut awr o =
T ¥ Awivew, A= @ fwr A @ e
99, e & 1 w1 ey & TACHT B

(A) s 5/3@%

(©) 3= @) ¥ A FE T

' 3
50. mﬁﬁmﬁvﬁmww%:‘ﬁ&»
w gl
e p U
©) fo=x 7 &
(D) 7 ¥ = &
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